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Q.1 Choose the correct option :

1. The cost of 8 pencils is Rs. 48 . Find the cost of 1 pencil ?

(a) 5 (b) 6 (c)9
2. Any number is divided with 1 the answer will be
(a) Itself (b)) 0 ()1
Q.2 Fill in the blanks :
1. +42=1 2. 321321 =
3.0+96 = 4.267 + =267

Q.3 Divide and Find Quotient and Remainder :
9298 +4

Q.4 Divide using repeated subtraction :
40 + 8

Q.5 Word Problem :

A farmer has 983 kilograms of wheat to be packed in bags. Each bag can hold 9
kilograms of wheat. How many bags can be filled and how many kilograms will be
left over?



